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(110 Welcome to ROOT

ROOTOOOOOOOODOODDOROOTOOODOOODOOO
uboodaboodao

1.1 000

OO0 ROOTOOOOODOOOODOOOOOOOOOODODOOODOD
yasuhiro@s3(100)> setenv ROOTSYS /home/yasuhiro/Root
yasuhiro@s3(101)> set path=( $path ${RO0OTSYS}/bin )
yasuhiro@s3(102)> setenv LD_LIBRARY_PATH ${R0O0TSYS}/1ib

1.2 DODOOOO

ooog rROOTODOOODODOODOO
yasuhiro@s3(103)> root
0000000000 ROOTOOOODODOODOOOOODODDODOODOO

>k 5k >k 3k 3k 3k 5k >k 5k >k 3k 3k 5k 5k >k 3k 3k 3k 3k %k 5k >k 3k 5k >k 3k 5k %k 5k >k %k 5k >k >k 5k %k >k >k %k >k *k %k %k

* *
* WELCOME to ROOT *
* *
*  Version 2.22/09 19 July 1999  *
* *

* You are welcome to visit our Web site x
* http://root.cern.ch *
* *

>k 5k >k 3k 5k 3k 5k >k 5k >k 3k 3k 5k 5k >k 3k 5k 3k 3k 5k 5k >k 3k 5k >k 3k 3k %k >k >k %k 5k >k 5k 5k >k >k 5k %k >k *k %k k

FreeType Engine v1.1 used to render TrueType fonts.

CINT/ROOT C/C++ Interpreter version 5.14.9, Jul 17 1999

Type ? for help. Commands must be C++ statements.



010 Welcome to ROOT 2

Enclose multiple statements between { }.

0000 CINT O prompt O

root [0]

00000 ROOTOOOOOOOROOTOOOODOOODOO ROOTOOOOODOOO
ug

root [7]

gogooooo

root [7] .q

0O00O00ROOTOOOOOOODOODOODODODOO ROOTOOOOOOOO
yasuhiro@s3(104)> root

goooobooooooooon



[1 20 Histogram

goboboboi1o0bbobooooobooobobobboobbon
god

2.1 OO0 booobood

2.1.1 100000404000

U0 THiOOooOoDOooooOooooobooooboboouoboooooboooo

1.6
2.0
0.23

gooodooaooooooogoogogoooogooogod

root [0] THI1S hl("name”, "title”, 150, -10, 20);

new THIS() 100 shortint 00000000 OOOOO
"name” gooooooon
7 title” oodoooooad
150,-10,20 1000000 000000O0O
-10,200 0000000000000

0000000000000 (000 h1)DODOD0O (filenamedat) D OO0OOOOOO

root [1] #include <fstream.h>

root [2] ifstream data(”filename.dat”);
root [3] double x;

root [4] while (data >> x) hl.Fill(x);
root [5] data.close();

goon

root [6] hl.Draw();

O00O000ooooOOooOoooooOo(o 2.0)



0 20 Histogram 4

name
Nent = 77101

3500

3000

2500

2000

1500

1000

500

Mean = 1.80011
RMS =1.88289

R
o

0 2.1:

15 20

TH1IOODOOOoOooDoo

uogdougoooogaaoogn

| root [7] hl.Draw(’E");

"E'00000000000000000(0 2.2(a))

| root [8] hl.Draw("L”);

"L'000000000000000000(0 2.2(b))

| root [9] hl.Draw("P”);

'prO000000000000000O(O 2.2(c))

fitle

3500
3000f
2500
e
1500

1000E

soof-

(b) 0O O (c) O

022 THI0DD000000000O0O0O



0 20 Histogram 5

title name title
Nent = 77101
Mean = 1.80017
RMS = 1.88291

35000

3500(—

3000(— 3000(—

2500 2500

2000 20001~
1500 1500
1000 1000

500(— 500(—

P I b
15 20 -10

023 00000000 fitting

2.1.2 JO00O0OO0O fitting

W OOoooodooooooooog
| root [10] hl.Fit(”gaus’);

0000 OGaussian O fittingOD 000000 "gaus” 0O 000 fitting OO ODODO
00000000 2.3(a))

gododoooooododooooooood
root [11] hl.Fit(”expo”);

root [12] hl.Fit(”poll”);
root [13] hl.Fit("pol2’);
7expo” [0 exponential fitting 0 O “poll” O “pol2” OO OOD0DOOOO 10020000
O0000Opoln(nO000)0000n0000000O fittingO0OOOODOOOOOO
fitting0 OO OO0 000000 O0DOOOO0OOO0OOOOO
| root [14] gStyle->SetOptFit();

000000000(0 2.3(b))

0000000 fitting
00000000000 fittingDOO0OOO0OO0O0O0000O
p1 cos(pax) + p3 (2.1)

godgoooodooooon1gdoo TR dgoogno
root [15] TF1 f1("f1”, ”[0]*cos([1]*x)+[2]");

000 h1O00OO TH1DODDOOODDOOODOOOOOOfittingDOOOODODOOO

odooooooooododoan
root [16] fl.SetParameters(10, 1, 10);




0 20 Histogram 6

h1
Nent =81

h1
Nent =81

Mean = -1.18061e-16

RMS =0.533035

Chi2 /ndf = 148.161/ 37
PO =19.2534 +-1.01825

Mean = -1.18061e-16
C RMS =0.533035
|- Chi2 / ndf =511.072/ 37
0~ PO 658279 + 061620
Pl =36241+ 00798794 E
p2 = 20.6145 +- 0.860159

pl  =10.1434 +-0.112695
p2__ =9.50536 +-0.502806

a0f

30F

0E PR I S B PRI et E P S P AP B
-1 -08 -06 -04 -02 -0 0.2 04 06 0.8 1 -1 -08 -06 -04 -02 -0 0.2 04 06 0.8 1

0 2.4: cos O fitting

TF1O0ODOOO0O Function OO0 OO0OOOCDOODOOO0OODOODODOOD fitting O
gooooooogoodilo, 1, 1000000000000000000

| root [17] hl.Fit("f1”);

OO0fitting0 0000000 24(a)000
Oooooz24b)0000O0O

| root [18] fl.SetParameters(10, 10, 10);

goobooboobbooboboboooooobbobobooooooooooooono

2.1.3 O000ooood

000000000000000000000 TAxis O SetRange 10000000
OOSetRange 0000 bin 00000 XOOOOOOOOO FindBin 00000 bin
00000000000000000000000 [-10,20000000000 THIS hl
0o0 [5,5/ 00000

root [0] hl = new TH1S("name", "title", 150, -10, 20);

root [5] hil->GetXaxis()->SetRange(hl->GetXaxis()->FindBin(-5),
h1->GetXaxis()->FindBin(5));

root [6] hil->Draw();

goood



130 Graph

goooOo2000000000000000000000OD0O0
gbbaooodgbbuooooao

3.1 OUoooogod

3.1.1 0J0Oogoogdgod

ooooooo
386.0 7.5384
406.0 10.7109

421.0 14.525

00000000 (filenamedat) D 00000000

OOoooob0oooobOoooboboooooooooo0oooooOoon fleat 0O
x[10, y[10] 0 OO OOODOOOOOOO 1000000000000000000O0OO0
gbobobogoooooooobogogd

root [0] #include <fstream.h>

root [1] float x[10], y[10];

root [2] ifstream data("filename.dat");

root [3] int index=0;

root [4] while(!data.eof()) {data >> x[index] >> y[index]; index++;}
root [5] data.close();

gogoodoodbodbooboobooogoooooooooogooon

root [6] graph = new TGraph(index, x, y);
root [7] graph->Draw("AP");

AP0 000Q0DOO0Dooocooooooogo

A: ODOO0OCOCOOOOOOO
P. 0000DUOOODOOOODO (OODOODOOD)ODODDOODOOO



0O 30 Graph 8

18|
16—
14+

12—

10—

0 3.1: TGraph DO OO ODOO

00000000 38.1)
000000000000000

root [6] graph->Draw(”APL”);

"L'000000000000000000(0 3.2(a))

| root [8] graph->Draw(”APC”);

"c'O000000 o0 o000D0O0ODOOOODODOODOOOOOOODn(O 3.2(b))

3.1.2 0J0O0O0O0ogdoobon

ggbobbgbobobobbobobbobobooobofx,yobOooooaog
Ux,ydOUOoODOOOd xerror, yerrorU OO0 OO0O0O00OO0O00O0O00O0O00OO
gooooogooogooon

root [9] graph = new TGraphErrors(index, x, y, x_error, y_error);
root [10] graph->Draw(”AP”);

000000000 000O00D0O0O0OD0O00000D0O0O(D 3.3(a)
OO00fitting 0000000000000 O0O0O0000O0O

root [11] graph->Fit("poll”);

0000000 10000 fitting 00000 (0 3.3(b))



0O 30 Graph

22f 22fF
20f 2°f
18f 18f
16f 16f
14f 14f
12f 12f
10F / 10f
Sf & Sf o
30 Ta0 a0 a0 ae0 30 Ta0 a0 a0 ae0
() 00O (b) OO

032 TGraph ODODODOOODODODO

Graph Chi2 / ndf =0.539918 /3
PO =-62.3724 +-10.6153
26— 261 pl  =0.18101 +- 0.0268242
24; 24f
2E = 22f e
200 S 20F o
19 sof
16 =
E _L 16F
14E i 14fF 437/
121 F
e ’_J__‘ 12
10F 10F
8y E
oF <+ E -+
=4 L L L L L L L L L L L L L L L 6
m P | P
380 400 420 440 460 480 380 200 220 240 260 280
() 000000000000 (b)100000 fitting

0 33: 000000 fitting
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[1 400 Function

ROOTOOOOOOODO (10D00O200)0000plot 0000
goboogo

4.1 TF1, TF2

OO0 cObOOooooooOboOoboOn FortranODODO zxxn 0 2"000000O0O0O
0o00gogoaagooogoi1ggoogogano

root [0] TF1 f1("f1”, "x*sin(x)*exp(-0.1*x)”, -10, 10); fl.Draw();

goooood
f(z) = zsinge 1* (4.1)

O plot 0 -1000 100000000(0O 4.1)
gog20000000000400

| root [1] TF2 f2("f2”, "abs(sin(x)/x)*(cos(y)*y)”, -6, 6, -6, 6);

ooooooo
sin x

flz,y) = ——|ycosy (4.2)

Oplot 0 xOOOO 600 6000y 000 -600 600000000 (O 4.2)0
(abs() DO OODO COOOOOOOOOOODOOOO)

root [2] f2.Draw(”surf”);
root [3] f2.Draw(”contl”);
root [4] f2.Draw(”lego”);

ooooob THR200000000000D00O0

4.2 JUO0OO0OD0OO0OO0OOO

Oo0o0o0obOooooobooboobOoodfistingd0OOO0OODOOOODOODO
ooooboooooooboooboob0og TFIO TFR2000000000000000
gon oloilgreplooogoonogoon

| root [5] TF1 £3("£3", "[0]+[1]*exp(x)", -5, 5);




040 Function

x*sin(x)*exp(-0.1*x) |

15

10

-10 -8 -6 -4 -2 0 2 4 6 8 10

041: 10000000000 f(z) = xsinge *1®

abs(sin(x)x)*(cos(y)ty) |

I
—

41 .
= ) NS
2 “
6] “:““‘6‘\\ ‘i“%{{{;’@i{‘:
1SS SN T LSS
. \“""/{::.‘.‘::“ P 7
2 X
Al .

0 4220000000000 f(a,y) = |—

‘yCOSy



040 Function 12

ggooooooooboooooooboooooobobboboobobbobon
googooooobooooboooboooooboogooooo

| root [6] £3.SetParamters(l, 2);

gobooogooo ot 1gobbooob 1b 2000000000
oopDoOoDoDoDbOb fitingDO0OOODOOODOODOOOOOOOOOO

4.3 UO0OOOOO

O000000000 gaussian O landau D0 OO0 OO0 O0O0DO gaus O landau O OO
goooooobooobooboooooooooUooDbboOobbobooDbOoDOoDbOoOooO
000 Odouble gaussian

2

z2 ——z _
f(z) = 1006”7 + 20e 2x32

0

root [7] TF1 f4("f4”, ”gaus(0)+gaus(3)”, -10, 10);
root [8] f4.SetParameters(100, 0, 1, 20, 0, 3);

uggbooaoooboobod
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[1 50 Ntuple

gobooooobboooboobooobobobooboooobd
guoboobuooguoogboobuooooobooobooon
googoooooboboboooo

0000000000 00DO00DO ONtupled O0Ontuple 00O O
double 0 O tirpledquadrupled---0 nO0 00 OO0 O0OOO0OO
O000000O0Ntuple0 000000000000 0OO0DODOO
000000 o00ooOoooooooooooooooooooon

5.1 Ntupled OO O

Ntuple 0O OO00O0O0000000O0DO NtupleOOODOODOO
root [0] ntuple

= new TNtuple("name", "title", "OOOOO" [,OOOOOOO]);

0oobo0obo0obO0o0 NtwleDDOODOODOoOooDoooooo»oobobooOoo
goooooon

“x:y:z:energy”

“pX:py”
Ntuple 00 OO0 DD OODODO0ODOODOODODODOOOOO0O
root [1] ifstream data("O OOOOOOO");

root [2] float x, y, z, energy;

root [3] while( data >> x >> y >> z >> energy)
ntuple->Fill(x, y, z, energy);
root [4] data.closeQ;

0000000000 0ONtupleD 0D O0O0O0D0OO0OO0OOO
| ntuple->Print(); |

O NtupleD ODODODOOOOODDODOOO

googboboboboooboboboooooboooooooooooboooooo
OO000OO0O0O0O0ONtupled Draw OO OO DOOOOOO



O 50 Ntuple 14

root [5] ntuple->Draw("OO0OO0O" [L,"OO"I" [L,"OODODOO"]);
00000000000 0o0o0oooooooooooOobObOOobobobooon

7x” xO0 1DO0OOO0OODOOObOOO0
"sqrt(x)¢ O0O00O0O0O0OO0OOOOOOOOOOOOOOOOOOOO OO0« oo
“x+y/z2 0O0000000O000OO0OOOOCOOOO

gbobobooogoo2pbosbodoboooooooboooobooboonDn

“xiy” xOyOd2Db00000O0O0O0OO0O00O0OO
“xiy:z” xOyOzO0 3DOOOODOOO0OO0OODOO0O0 oOO0OO0Ooo0ooooad
“x*2:sqrt(y)? 0000000000 OOOO

gboobogoobopobobboboooboboobooboboboooon

“x<0” xO 00000 oooooobooboboooooboooood
“sqrt(x +y)>4” O00O00OO0O0OOOOOOOO uod
“x>0 && z<0” gbooououoboooooboaaoo

000000000000 b0o0booooooooa

oooogog

| root [5] ntuple->Draw(‘‘sqrt(x):y*2’’, ¢‘z<0’’); |
O000ONtuple00O00D00O00000O0002z0 00000000000 Osqrt(x)
Oy*202D0000000000000

5.2 OO0 O0OOUouobobd

OoOoooboooooooooobooobO’ntemp” 0000000 O0OO0OOOOOO
goboobooobobobboobooooobooobobooon

000000o0ooooooooooooonoogoor,,) 000000
| root [6] ntuple->Draw(‘‘sqrt(x):y*2 >> hist’’, ‘‘z<0’’); |

000000000000 oOooDbD hist” 0000000000 O0OO0OOODOODOa
0d0oodooooobooooooboboooooooooonoooooooood
0oOoooooooooooooooo«“4»oo0oon

| root [7] ntuple->Draw(‘‘sqrt(x):y*4 >>+ hist’’, ‘‘z<0’’); |
ooogad

oot oboooooooooooouoooon
oo

000 Gaussian O fittingO O OO O

| root [8] hist->Fit(‘‘gaus’’); |

goguboooodabobog




O 50 Ntuple 15

5.3 0O0O0O0O0O TCut

uggbobobuoboogobbdooobobobooooobooooooooooooboo
000000 000O0oO0Oo0ooOOoooDoOoOOoODOoo TCt00O0DO0oOoogoDoOD
gog

root [9] TCut positiveCut = "x>0 && y>0 && z>0";
root [10] ntuple->Draw(‘‘sqrt(x):y*2’’, positiveCut);
root [11] ntuple->Draw(‘‘sqrt(x):z’’, positiveCut);

oooooooo
O00D0000000000 ”positiveCut” 0 ”energyCut”’ 000 O000O00O00ODO

| root [12] ntuple->Draw(‘‘sqrt(x):y*2’’, positiveCut && energyCut);

gooaod
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0 60 Graphics

gboooooooobobbboobooboboobbbon
god

6.1 Terminal O Scirpt OO OO0

0000000 20 (1,2)0 (3400000000

root [1] TLine 11(1, 2, 3, 4); 11.Draw();

gogoggoobooogd

root [2] TBox bi(1, 2, 3, 4); bl.Draw();

00000000 (1,2)0000 34)00000000000000000000

root [3] TArrow al(1, 2, 3, 4); al.Draw();

0000 (1,2)00 340000 -0U00U00D0D~0O00D0DODOO0DODODOOOOOD
gadd

root [4] al.SetOption("<>"); al.Draw();

0000000 TArrow 00000000000

root [5] TArrow al(l, 2, 3, 4, 0.05, "<>"); al.Draw();

000000o0ooooOooooooD o000 0OODODODOOODOO(@mOOn
0.050000000)
0000000000000 (0000000 4500000 2)

root [6] TArc ari(4, 5, 2); arl.Draw();

O0ob0ooobooobO TElNpseD D ODODODO0OODOxOO yOOOOoooooOoO
OO0 TElipse DOOODOOOCOCOODDODOODOOOOO
0000 (000 (2,3)0)0000000000

root [7] TMarker m1(2, 3, 20); ml.Draw();

ooboboooog 200000000000 0O00000
oooooooooogod

root [8] TText t1(2, 3, "Text foo bar baz"); tl1.Draw();

goobooog



0 60 Graphics 17

6.2 Graphics Editor

Editor] COODOROOTUOOOUOODOOOODOODODOOODODODOOO
;; 00000000000000000000000000000000D0000
== U00000000000000000000000000000000000
pamond | 000 Edit -> Editor 00000000000

Ellpse 000000000000 0000000000000000000000
- O000000 (000)00000000000000000

Pave

Pavelabe

PaveText

PavesText

PolyLine
Text

CutG

6.3 U040

gbooboobbbooooooooooooboooobbooooooboooon
gbbodboobooobboouooouuouoooooooboooubobooobd
00000 Set ... AttributesO (... 00000000 0)00000O00O0OOOOOOOO
000000000000 00O0ODO0OOOCDDApplyDDDODODODOOODOLOO
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70 OUoog

gbooboooboobooboobobbobooobobobobooobogd
gobogod

7.1 0OO0oO0

OOob0OobOO0oOo0ooDbOO0obDbODObOOCanvas 0 Pad0DODOOODOODOOODODO

00 Canvas 0000000000 OOOOOOOOOO
root [0] TCanvas cl1("Name", "Title");

root [1] cl.Divide(2, 2);

0000 xO0OOO0O 20 (000 20y 000 20 2000 2)000000000OO0
(000 40)00000000000O0O0ODO PAdOOOODOOODODOODOODO

root [2] cl.cd(1);
root [3] TF1 f1("f1i", "sin(x)", -2, 2); fi1.Draw();
root [4] cl.cd(4);
root [5] TF1 f2("f2", "cos(x)", -2, 2); f2.Draw();

00000 PAdODDOOOOOOODOODODOOO(O 7.1)

root [6] c1.cd(3);
root [7] gPad->Divide(3, 2);

7.2 0O4OU

ROOTOOODOOOOOOOOOUOODOOOODO(@MOODODDOODODODDOOODOOO
000)0000000000000000 THIFOOOOOOOOOOOO

root [8] TH1F waku("waku", "Title", 2, 350, 550);
root [9] waku.SetMinimum(20.0);

root [10] waku.SetMaximum(110.0);

root [11] waku.Draw();




gv0 00000 19

aF

o.ef
o.ef
0.4f
O.Zf
of

-02F

-0.4

071000000

O00000000000D000TGraph graph 0000

root [12] graph.Draw("LP");
root [13] c2.Update();

doogooodopoodoTPad 20000

root [14] c2.SetLogx();
root [15] c2.SetLogy();

000000000 PadO0U0OD0OOO0 xODOyOOOOODO logOODOOODODO
gooo

root [16] c2.SetLogx(0);
root [17] c¢2.SetLogy(0);

goooooood
gog

root [18] c2.SetGridx();
root [19] c¢2.SetGridy();

oobooooobD gridd000D00000O0O0ODODO PadOODDOOODDOODO
gaod



gv0 00000 20

73 O

rROOTOOOOOOOOOOODOOODODOODDOODOOOOOODOOOO
gooboooogogg

root [0] TCanvas cil("ci1", "Title", 50, 50, 700, 500);

root [1] TPavelLabel 11(0.3, 0.91, 0.7, 0.99, "Global Title");
root [2] 11.Draw();

root [3] TPad pi1("pl", "title", 0, 0, 1, 0.9); pl.Draw(); pl.cd();

gooogoobodd
ogbooogoboggoobboooobgooogn

root [4] TF1 f1("f1", "sin(x)", -3, 3); fi1.Draw();
root [5] TPaveText* tl1 = gROOT.FindObject("title");
root [6] t1.SetTextFont(131);

root [7] t1.SetX1INDC(0.4); t1.SetX2NDC(0.6);
root [8] ti1.Draw();

ggouoboobdoooboboooboanbd
xOOyODOOOOO (axistitle) DOOOOOOTHIFh1OOOO

root [9] hil.SetXTitle("Wavelength");
root [10] hil.SetYTitle("Transparency");

ooooooooogg

root [11] hl.GetXaxis()->SetLabelFont(112);

root [12] hl.GetXaxis()->SetTitleOffset(.5);

root [13] h1l.GetXaxis()->SetTitleSize(.07);

0000000000000 0000D00000TitleOffset 0 O0O0DOO0O0ODOOODO
ooooooooooog

0o00dodoooooooooo
| root [14] TText t1(1.8, 0.44, "text"); t1.Draw();

00000000000 O0D0O0O0D (1.8,044) 000000 text 0000 O0OOOOO
000000000 t1 0000 SetTextFont() O SetTextSize() 00 0D OOOO0OOO

74 O0O0OooooOod

0000000000000 0000an
root [15] h1l.SetFillColor(2);

root [16] h1.SetFillStyle(3002); hi.Draw();

0000000000000 00000000000000
root [17] hl.SetFillColor(2);

root [18] h1.SetFillStyle(3002); hi.Draw();
root [19] h2.SetFillColor(4);
root [20] h2.SetFillStyle(3002); h2.Draw();




gv0 00000 21

gouooooobooobobobobobouoooboon
O000000000000000 TH10O TAttLineOOOOODOOOO

| root [21] hi1.SetLineWidth(5); hi.Draw();

goood

7.5 Graph 000

TGraph 0 TAttLineO TAttFillO TAttMaker D 00000 O0OOOCDOOOODOOOO
gogbooooobogooogooooooooogn

root [22] graph.SetFillColor(5);
root [23] graph.SetLineColor(3);
root [24] graph.SetLineWidth(4);
root [25] graph.SetMarkerColor(6); graph.Draw("ALP");

7.6 Global Style

00000 TH1O TGraph OO OO attribute 00000000 OODOOOOOCOO
0000000000000 TStyle*gStyle 00000000000

| root [26] gROOT->SetStyle("Plain");

gobooobobboobooooobboanbd

7.7 0o

ROOTODO teshOODOOO TABOOOOODOOOOODOOOOODODOODDDOO
ROOTOUOOOOODOOOOODDO (${rOOTSYS}/tutorials )0 00O

| root [27] .x gr

OO00C00OCDOO0 TABOOOOOOOOOOOOgraph.COOOODOOOOOOOO
ubbobboooobobobuoooouoobobobobobbobooboobobobobag
000000000000 TABOOOODOOOOOOOOODO
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(08 O OO Sourcefile

000000000 PostScript O EPS, GIF OOOOOOOO
gbboboubobooobobobduobooboboobon

81 UUUODOO

ROOTOOOOOOOOOO0OO TCanvascl OO0

| root [10] c1.Print("filename.ps");

0000 filenameps 000000000000 ODOOODOOOOOOO

EPSUOGIFOODOOOODOODOO

Print OO0 OD00O0OOOO0OO0ODOO filenameeps D000 EPSOODOOOQO file-
namegif 0000 GIFOOOOODOOOODOOODO

8.2 sourcefile 00 OO

ROOTOOUDOOUOOOODOOODOODOOOOOO Osourcefile (OO ODOOO)O
OOoooOoooDpoDO grapheccOODOOOOODOOOOO

#include <fstream.h>

void graph()
{
cl = new TCanvas('"cl1", "Title", 0, 0, 700, 500);
c1->SetGridx();
c1->SetGridy();
c1->SetFillColor(0);
c1->Draw();

waku = new TH1F("waku", "Title", 2, 350, 550);
waku->SetMinimum(20.0) ;
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waku->SetMaximum(110.0);
waku->SetDirectory(0);
waku->SetTitleOffset (1.2);
waku->SetXTitle("Wavelength") ;
waku->SetYTitle("Transparency") ;
waku->Draw("A") ;

ifstream data("2dhist.dat");

float x[500], y[500];

int event = 0;

while (data >> x[event] >> y[event])

event++;
gl = new TGraph(event, x, y);
gl->Draw("LP") ;

c1->Update();

c1->Print();

000000000000 sourcefile 0000 ROOTOOODOOOO

| root [0] .x graph.cc

0000000000 source fileOO 2dhist.dat 00000 00D0ODDOODOOQCODOO
ggaboooooboobabd

8.3 7 /.root_hist

ROOTODOOOODOwroothist 00 OOOOODOOODOCOOODODOOODOOOOOO
oooooopooD rROOTOODOOOODODOODODODOOOOODOODDO source
fleDOOOOODOOOOOOOODO
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090 DO0oodobud ROOT

cxx 0 g++ 000 ROOT O class library OO OO0 OO0O0OO
ooooooo

9.1 Makefile

${RO0TSYS}/test/Makefile} 0 0000 OODODOOOOODOO compile 0000
000 compiler option [0 CXXFLAGS U0 O Olink 000 OO0 library 0 ROOTLIBS [
ROOTGLIBS DO 0O O00O0O0ODOODOOODOOODODO Makefile DODOODOOOODDOO
uo:

ROOTLIBS = -L$(ROOTSYS) /1ib -1New -1Base -1Cint -1Clib -1Cont \
-1Func -1Graf -1Graf3d -1Hist -1Html -1Matrix -1Meta \
-1Minuit -1Net -1Postscript -1Proof -1Tree -1Unix -1Zip

ROOTGLIBS = -1Gpad -1Gui -1GX11 -1X3d

GLIBS = $(ROOTLIBS) $(ROOTGLIBS) -1Xpm -1X11 -1m -1PW

CXX = CXX

CXXFLAGS = -0 -nostdnew -D__osf__ -D__alpha -I$(RO0TSYS)/include
LD = CXX

LDFLAGS = g

TARGET = test

0BJS = main.o

all: ${TARGET}

${TARGET}: ${0BJS}
${CXX} ${CXXFLAGS} -o $@ ${0BJS} ${GLIBS}

.CC.0:
${CXX} ${CXXFLAGS} -c $<

clean:
rm -f *.0 core ${TARGET}
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9.2 OOUOOOOOO

OO0 TROOT object OO OO OO0OOODOODOOOOOOODODOOOOOO
ogoogd

#include "TROOT.h"

class TTestBench {
)
};

int main(int argc, char** argv)

{
TROOT Root("Root", "TEST Program");
return TTestBench(argc, argv).Run();

${ROOTSYS}/test D U DODO OO OOODOO0O0OOOODOOOOODOODOOOO



